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Explain Registration method and census method to obtain vital 10
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Demographic statistics.
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Age drcl | AReroudl estul | decll | AAewoudl estui
15-30 2500 5% 3000 4%
30-45 3500 8% 3000 9%
45-60 3000 12% 3500 1%
60 & above | 1000 15% 500 20%
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From the following table of population and unemployment for the 10

standard and local population comp(ite:

Standardize popilation Local population
Age population | Wpetaployment | population | Unemployment
15-30 2500 5% 3000 4%
30-45 3500 8% 3000 9%
45-60 30Q0 12% 3500 1% -
60 & above 1900 15% 500 20%

i. The general uneniployment rate for the standard population.
ii. Standardize unemployment rate for the local population.
iii. The crude unemployment rate for the local population.
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Define the Vital Statistics. Discuss the uses of vital statistics of 10

Demography.
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Age drll | yclollaivat | ctacl | cSlolldivau
Under 5 16000 176 5000 130
05-40 50000 250 27000 162
40-75 120000 840 62000 527
75 & above | 14000 910 6000 420
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Compute crude and standardized death rates in two cities from the 10
following data and find out which population is healthier:

City A City B (Local)
Age population | Deaths | population | Deaths
Under 5 16000 176 5000 130
05-40 50000 250 27000 162
40-75 120000 840 62000 527
75 & above 14000 910 6000 420
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Explain giving illustration, a note on Crude Birth Rate and Total 10

Fertility Rate.
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(i) (‘0001 ollaslefl vl
15-19 16 400
20-24 15 1710
25-29 13 2100
30-34 13 1430
35-39 12 960
40-44 11 330
45-49 10 40

Qo

Q.2 b) Compute General Fertility rate and A6tal Fertility rates from the 10
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following information.

Age (Years) | Female-papulation | No. Of Live
(in-000°’s) births
15-19 16 400
20-24 15 1710
25-29 13 2100
30-34 13 1430
35°39 12 960
40-44 11 330
45-49 10 40
vladl
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Explain giving illustration, a note on General Fertility Rate and Age 8

specific Fertility Rate.
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15-19 48 1200
20-24 45 5130
25-29 42 6300
30-34 39 4290
35-39 36 2880
40-44 33 990
45-49 27 108
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Compute General Fertility rate, Age specific Fertility rate and Total
Fertility rates from the following information.

Age (Years) | Female population | No. Of Live
(in 000’s) births
15-19 48 1200
20-24 45 5130
25-29 42 6300
30-34 39 4290
35-39 36 2880
40-44 33 990
45-49 27 108

eol Slesoll QY u2flo] aglol 5. oor AMA Yclotoll UABMA gAYt
sleesuiell 3l AlA ossl awa B, -

Describe various components of a life table. How is expectation of life
at birth determined from a life table.
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In usual notations, prove that
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i) I, = Y% 'd,, where, (w —{)Ms the highest age at which any
survivors are recorded in table:
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State various components of life table. Explain how a life table can be
constructed fromithe data usually available?
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In usual notations, prove that,
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Explain the role of Central Statistical Organization in collecting Indian
Official Statistics.
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Explain the methods of collecting agricultural statistics.
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Write a note on, ‘Agricultural statistics”.
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Explain the role of National Sample Survey Organization in collecting
Indian Official Statistics.
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State Pareto’s law of income distribution and discuss its limitations.
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Derive conditions for the constrained utility maximisation of utility
U = £ (x,, Xp) subjects to the budget constraint: p;x; + p2x, = y(fixed)
Lol
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Describe under what assumptions an incérhé distribution follows
pareto’s distribution.
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Explain two important methodg{commonly used to graduate income
distribution, pointing out theiassumptions.
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